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Question 1. Calculate: 
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Question 2. Simplify as much as possible:  1
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Question 3. Solve the equation:     4542
2

 xxx  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:      

 

Question 4. If 5 yx  and 
7

1011


yx
, find the value of .33 yx   
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Question 5. An athlete throws a javelin. Its height above the ground after it has travelled a 

horizontal distance of x meters is given by .
60

1
)( 2 xxxH 

 
a) Graph H against x. b) How high is 

the javelin after it has travelled 20 meters? c) What is the maximum height reached by the javelin? 

d) How far did the javelin travel before it hit the ground?   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: b)                         c)     d)    

  

Question 6. At the Grand Canyon, a penny is dropped off the edge of a cliff. The distance the 

penny falls is 16 feet the first second, 38 feet the next second, 60 feet the third second, and so on. 

Using suitable formulae only, find: a) the distance the penny falls in 10 seconds, and b) how long 

it takes the penny to travel the distance of 2,550 feet.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: a)           b)   
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Question 7. In the diagram below, D is a point on a quarter circle with center O, AO = AD = 4 cm 

and ADC = 90°. Find the length of OC. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:      

 

Question 8. 134 out of 205 families in “Chimgan” village keep cows, 142 keep sheep and 76 keep 

goats. 67 families have cows and sheep, 10 have cows and goats, 15 have sheep and goats. There 

are 34 families who keep all three kinds of pets. a) How many families keep only one kind of pet? 

b) How many have no pets at all? Hint: Use the following diagram.  

 

 
 

 

 

 

         

 

 

 

 

 

 

      Answer: a)                                    b) 
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Question 1. Calculate: 

 36487
115

28

315

12
243:169

26

3

729

2
:

12

7
24

36

17
22 5

3
































  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:       

 

Question 2. Simplify as much as possible: 
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Question 3. Solve the equation:     xxxx 649124323 23
   
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Question 4. Find the value of 
 

k

nm

2

2


 if 0222 222  nnkkmnm  and 252 2  kmn   
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Question 5. Draw the graphs of ,1 xy ,3 xy 3 xy  and .7 xy  Estimate the area of 

the figure formed by your graphs.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer:      

Question 6. Matthew’s Clothing Shop opened four years ago. The first year he made $3,000 profit. 

Each year thereafter his profits averaged 10% greater than the previous year. a) How much profit 

does Matthew earn during his current year of business? b) What will be the expected total amount 

of profit he earns over his first six years? You must use suitable formulae to support your 

answers.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: a)                          b)   

   

Э
ти

 э
кз
ам

ен
ац
ио
нн
ы
е 
пр
им

ер
ы

 м
ож

но
 Б
ЕС

П
ЛА

ТН
О

 с
ка
ча
ть

 п
о 
сл
ед
ую

щ
ей

 с
сы

лк
е:

 h
ttp

://
ly

ce
um

.w
iu

t.u
z/

ly
ce

um
/in

de
x.

ph
p/

en
/a

dm
is

si
on

/e
nt

ry
-re

qu
ire

m
en

ts
 

Дл
я 
по
ль
зо
ва
ни
я 
в 
не
ко
м
м
ер
че
ск
их

 ц
ел
ях

 
С
об
ст
ве
нн
ос
ть

 М
еж

ду
на
ро
дн
ог
о 
Ве

ст
м
ин
ст
ер
ск
ог
о 
Ун

ив
ер
си
те
та

 в
 Т
аш

ке
нт
е



 5 

Question 7. In the diagram below, ABCD is a square. If BE = 4 cm and DF = 3 cm, estimate the 

length of AB.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:      
 

Question 8. Black and white floor tiles are built in the pattern shown below. a) How many 

black tiles will be needed to build the 25
th

 figure? b) What about white tiles? You must give a 

reason for your answer. 

 

     

 

 

              

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: a)                  b)  
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